DIY LONG SHAFT SUPER STRENGTH FIXED KICKER MOUNT FOR 22’ 1987 C-DORY

I spent a lot of time trying to find a good solution for mounting a 4 stroke kicker on the port side of my 87 22 Angler. There are lots of issues with market movable kicker brackets, regarding strength, trailer ability, transom flex, where to mount, cost, etc. Likewise there are issues with most jack plates as well. I set out to try and solve the problem myself and I think I did. Unfortunately, my final bracket took a few modifications so that I can’t give exact photos of this plan, but I can say that this plan is how I would do it next time and gives a great, decent looking, solid, and slightly flexible fixed bracket mount. Anybody is welcome to try it or modify it as they wish at their own risk. Lots of people in the club seem to like the satisfaction that comes with DIY solutions and this may just be the start of an even better plan.

THE PLAN

Buy (2) 22” pieces of AA aluminum channel (or easier to find (1) 48” piece). Size 6” with 3.25” legs. .35” thick, .21” thick (base 6” side). Also get a .75” x12x12 plate also of 6061 T6 Aluminum. I got mine from onlinemetalsupply.com for about $88 plus shipping but it seems to be a standard channel size available at most metal dealers. You can make the cuts yourself with a big metal cut off saw or you can have much nicer cuts made by the metal shop.

1. SEE DIAGRAM (BRACKET.PDF) (making the right side) Laying the channel flat, legs down, make a 45-degree cut (6x6) up from the left lower corner. Make a second identical cut 16” to the right (will end up with a piece of channel roughly 16” x 16” in a parallelogram). Then, turn the channel on its leg with the legs away from you and make a cut off the right edge (+/- 1 inch) such that the remaining side is 15 inches long. 

2. (making the left side)  this piece should be the mirror opposite of that cut in #1 above.  Starting with a rectangular piece of channel 22” or longer, laying it flat, legs down. Make a 45-degree cut (6x6) from the lower right corner to a spot on the top 6” in from the end. Then measure 16” in from each end of the previous cut and makes a parallel second cut. Finally, turn it on its legs with the legs facing away from you and cut off (+/- 1”) from the left end such that the length is the same as the right side cut in #1 (+/- 15”).

3. The 12” square plate you bought will be bolted to the outside of the legs you made the 1” flat cut off (top), with 5/16” x 2” SS bolts washers on both sides and nyloc nuts (8 sets) located 1 ¼” in from the outside. 1 inch up from bottom of the plate, one inch down from top and the remaining 2 (each side) equally spaced between the top and bottom holes, (about 5.33” inches up and down from top and bottom). It is a good idea to use a drill press if you have one to get the holes square. Cut the holes in the plate first, then drill the top holes through and temporarily bolt them, then bottoms, bolt them, then you can get the middles totally square. After starting your holes add a bit of oil to save on your drill bits.

4. The transom holes should be ½” holes centered 1 5/8” on the opposite leg the plate was mounted to, at 5” and 10” from the top of the inside leg. Use ½” SS bolts, fender washers both sides 4” bolts. The heads on the lower bolts should be inside the transom for maximum clearance for fuel tanks.

5. You will probably need to remove a fuel tank mount this. DO NOT DRILL THROUGH TANKS. NOT GOOD.

6. For me the best location was starting the plate 6.5” inside the line of the port vertical splash well line. For you it may be different and there is no reason this should be much different from starboard side mounting.

7. For me the best location for the first through transom hole was 3” below the trailing edge of the transom and 7 5/8” from the vertical line of the splash well. Drill as perpendicular (square) to transom as possible. Temporarily bolt on and square up mount as much as possible. Tighten first bolt to hold unit in place while you mark the other 3 holes. Remove and drill second top hole. Some of the extra aluminum cut offs can be made into excellent backer plates.

8. Remove all the bolts. With the aid of a friend, inside the boat, adequately 4200 the hole and fender washers and/or backer plates and push the bolts through. Put 2 full circles of 4200 around holes on back of plate and another bead all around the transom base. Tighten the bottom bolts but not too firm.  Place the top bolts through from the back, and bolt loosely with plenty of 4200 on inside of transom as well. Then put on the plate while still semi loose. Then tighten all transom bolts, and then tighten all 5/16” bolts. YOU NOW SHOULD HAVE A SUPER STRONG PLATFORM IN PLACE with perhaps 1” of final sideways play from center to move your motor left or right based on your final careful analysis of clearances, checked in the tilted and down positions. You can add a rubberized plate or piece of Trex inside for a thicker hand screw on plate if you want, but not needed. The pad can be affixed with mastic (not poly based or other gasoline soluble mastics) This can be through screwed in the center of the plate with #12 SS screws to keep it from sliding until the motor is finally clamped.

9. Finally, hang your motor loosely and make all of your final calculations on clearances, and best fit and when you are satisfied where to finalize the install, drill the bolt holes to semi permanently secure the kicker using the kicker itself as the template. 3” length, probably 5/16 or 3/8” SS bolts, washers and nyloc nuts.

NOTES

My long shaft Johnson (Suzuki) has a 22” length from the bracket to the anti-ventilation plate. {Check yours} The result of this bracket (due to the angles and all) effectively moves the mounting point back about 6.75” and up about 3” above a line drawn level with the top edge of the transom with the boat pretty much at its normal displacement running attitude. At the kicker’s most perpendicular trim (about hole 3-4) the leading edge of the cav plate is about 15” behind the transom and approximately 1.” above a line level with the boat bottom. I find no problem with that height at that distance but if someone clearly wanted the plate at full boat bottom depth, they should probably adjust the mounting holes 1” less from the top plus or minus the difference in measured shaft length from 22” measured from the anti-vent plate to the top trailing edge of the inside of the transom clamp. This may be a better idea as there is always room to move the motor up an inch or a little more just by drilling new (higher) engine mounting holes. [There is no reason the motor must sit fully down flush on the plate.]

My mount is on the port side (for better weight ditrib, but there are some tiller issues) and the best placement for the bracket for me is approximately 6.5” to the right of the line down from the left edge of the vertical splash well. Your results may vary. The motor works fine on port with a SS connector rod such as sold reasonably by Cabelas, though I did have to bend it a bit to accommodate the big setback and hard left hand turns where the bar would hit the main motor if not bent. A good solid bench vise works well for bending.

My motor weighs 107# and this is one rock solid mount in which I have full trailering confidence, up or down. HOWEVER DO THIS AT YOUR OWN RISK, THIS IS SIMPLY AN IDEA OF HOW TO DIY and end up with one tough mount. Looks pretty nice too, bartender’s friend will clean up nicely.

I plan to eventually add hydraulic steering; an autopilot and a remote kicker throttle control. I took all this into consideration in designing my bracket. Right now, kicker throttle control is a bit cheesy but workable. I use a PVC coated Master python bicycle cable lock through the steering tube on my kicker and through the boat rear tow eye as my kicker security and a safety cable in case of any trailering mishap.

Chris

PARTS

44-48” aluminum channel

12x12x .75 plate

(8) 2”x 5/16 Stainless bolts, washers and lock nuts

(4) 4” x 1/2 Stainless bolts, fender washers and lock nuts

full tube of mmm 4200 or fav. Substitute

9” of Trex or your substitute and gas friendly adhesive ( non-poly)

2 sets of appropriate size motor bolts (probably 5/16 x3 with washers and lock nuts)

TOOLS

5/16 hs drill bit

½ hs drill bit

oil for drill bits

Big metal cutoff tool / blade

Belt sander/file

Appropriate wrenches and torque wrench 

Safety goggles for metal cutting

Helps to have 45 degree jig for metal saw

Drill press helps but not necessary


[image: image1.png]



_1271599899.pdf






